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Fall Protection for the Construction Industry (SH-22298-11-60-F-48)
PRE-TEST
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. Anchorage points must be able to support a weight of at least per worker attached.

a. 400 Ibs.

b. 1,500 Ibs.
c. 10,000 Ibs.
d. 5,000 Ibs.

. True or False? Engineering controls, such as scaffolds and guardrails, should be used to
eliminate the fall hazard whenever possible.

. True or false? A low-slope roof has a slope of 4 to 12 (vertical to horizontal).

By law, fall protection in the construction industry is required when working at least
feet above a lower level.

True or false? When using an extension ladder, the ratio of how far the base of the ladder
needs to be from the building or the wall? (Vertical to horizontal) is 2:1

. Top guardrails need to be placed at inches from the floor and be able to withstand
a force of at least Ibs.

. A personal fall arrest system is made up of:
a. Body belt, rope & carabineer

b. Waist harness, rope & guardrails

o

Full body harness, lanyard & anchors

o

. Guardrails, yo-yo & body belt

. The in a scaffold prevent tools and materials from falling to lower

levels.

. True or false? A 6 ft. lanyard/connector can be used when working on the second level of a
scaffold (approximately 12 to 13ft. high).

10. True or False? A harness can be reused after a fall.



